COSC 311: ALGORITHMS
MINI 7/

Due Friday, November 1 in class
1. Weighted interval scheduling. Here’s a set of intervals and their associated values:
12 v(a) = 4|
|b v(b) = 6I
I< v(c) = 3:

Id v(d) = 4|
Ie v(e) = 5|
If U(f) = 7:

Show what happens when the algorithm you developed in class is run on this set of intervals. Your
response should show both the optimal solution that our algorithm finds, and how the algorithm
goes about finding it. (Note: wait until Monday to do this problem)


https://kgardner.people.amherst.edu/courses/f19/cosc311/
https://kgardner.people.amherst.edu/courses/f19/cosc311/mini/mini7.pdf

2. Dynamic programming. Explain in your own words the circumstances under which you’d use
a dynamic programming algorithm.



